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SUBJECT CODE NO:- K-1107
FACULTY OF HUMANITIES

B.A. T.Y. (Sem-V) Examination Oct/Nov 2018

Economics - IX

International Economics (Compulsory)

[Time: 1:30 Hours]

N.B

Q.1

K—-1107

Please check whether you have got the right question paper.

i) All questions are compulsory.

i1) Use blue and black pen only.

iii) Use pencil for diagrams.

iv) Use of any signs attracting attentions is prohibited

2. gd g2 ASfI0T 39T e,

2. BaFd [T F hiedr YaTdrd aTay FHrdl.

3. HTHITATST UTeHelaT AT Hral.

8. PIOTCET eleTdtreh YUT & Yaell HIUATH TTAEr 3778

A) Fill in the blanks. (Attempt all)

1

2.
3.
4.
S.

----------- propounded the theory of Absolute Advantage.
Trade barriers released -----------

New Economic Policy of India Implement since --------- year.

---------- is reduce the value of money.
“Inter regional & International Trade” Book is written by

37 Rerear S w1, (1faar)

.

[GER L RCIE IR A I3 R— AT HATSeT.

P TS Hos Tl o Ted.
Ks} fo)
s,

“Inter Regional & International Trade” & qEAR ----m--mo-

B) Answer in one sentence. (attempt all)

Ob BRI

What is meant by tariff?

What is meant by International Trade?

What is free Trade?

What is meaning of Balance of payment?

International Economics is which branch of Economics.
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&) TehT AT 3cc} forel. (T 3ifaar)

2. gefoh FEUTS! hIR?

2. ARSI SITIR FgUTSH H1T?

3. AFA ITIR HII 3T8?

Y. SJggR dlol FgUTSl hi?

3, TARTSEI SITIR &1 3TARMEATT HIUTAT AT 378 ?

Q.2 A) Explain concepts / terms / events (any two) 10
(word limit 60 per answer)

1

2.
3.
4.

Internal trade

Favorable terms of Trade
Disequilibrium in Balance of Payment
Import Tariff

37) HohoUdlT / TaAT / Tceh TASE ., (IUTdel &le)
(sE ATET &0 2TeE)

g.

.
3.
¥.

379 AU’
3feshel SITIR 37T
AT SYIER ciled
HWTHQQIW

B) Attempt in short (any two) 10
(word limit 60 per answer)

1

2.
3.
4.

Explain the effect of quota.

State the difference between Internal Trade and International Trade.
Explain the problem of measure in terms of trade.

Write the remedies in Equilibrium in Balance of payment.

) ASFATA 3k TOIBT. (FIUTIET &le)
(2T5¢, HATCT &0 UAq)

g.

K—-1107

< W WL

1T GRUTA FISC T,
IR T AT 330l TISC .
SIGER AleTciTel HJeleATd 34T fergT.
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Q.3 Answer in detail. (any one) 20
(word limits 200 per answer)
1. Explain the comparative advantage theory of International Trade.
2. Explain the merits and demerits of devaluation.
FFIEAR 3ca? foleT. (HIoTder Uah)
(USE, FATET 00 AT
2. 3MARITSEY SATIRTT JelelTcHeh TS fagicl TS .
R JAHYAT 0T J S TISE .
3
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SUBJECT CODE NO:- K-1108
FACULTY OF HUMANITIES
B.A. T.Y. (Sem-V) Examination Oct/Nov 2018
Economics - X
Agricultural Economics (Compulsory)

[Time: 1:30 Hours]

N.B

Q.1

K-1108

Please check whether you have got the right question paper.
1) All questions are compulsory.
ii) Use blue and black pen only.
i) Use pencil for diagrams.
iv) Use of any signs attracting attentions is prohibited.

¢, Iq 9T ISfAor 31aede 37Te.

R. B Tod@ar 30T HledT YoTdrd aTu STl

3. JThcITATS! Af=Hel=T ATIR FITET.

8. PIUTATET T&TAIh GUT d FeolT FIUTTH TTcAEr 3Te.

A) Fill in the blanks. (attempt all)
1) Firstly ------- country started the contract farming in the world.
2) Food Corporation of India established in the ------- year.

3) Average prOdUCtiVity % Number of labours

I is the father of green revolution.
5) Food security bill passed in the -------- year.

37) R S 9RT. (G9 ifard)
) R— I ST ST FATYH I AchTell Foare dhell?
Q) HRA 3fesT HEIHSS -------- ALY TUTTT STl

B) Answer in one sentence. (attempt all)
1) What is meant by agricultural labour productivity?
2) In which year crop insurance policy started in India?
3) Inwhich five year plan preference given to agriculture?
4) In which is National Seed Corporation established?
5) Disguised unemployment related in which sector?

43D4262DEEOD3506A 7TFE2996AESDABF7
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) TH AT 3cak folgl. (a0 31faard)
?) HE HH 3cUTehdl FgUTS Hg?
R) R ek [aAT ISt ioTedm ast g& SArell?
3) HW &THE HIVICAT GRATSIh Aloleld TTEed AT 37Tel?
¥) T [o-TaAT0r FAGHSS hegl TATTA STel?
) T SRRY HIOTT &TAmel ATt 3me?

Q.2 A) Explain concepts / terms / events (any two) 10

(word limits 60 per answer)
1) Optimum Land Holding
2) Contract farming

3) Agricultural Productivity
4) Sustainable development

37) HheUaT /| T / gch FISC . (FIVTdel gled)
(s, HACT &o 2eq)
?) gITTd GROT &7
) IR AT
3) I ScIEHAT
¥) eead fa&ry

B) Attempt in short. (any two) 10
(word limits 60 per answer)
1) Write the causes of small agriculture land holding in India.
2) Explain the features of agriculture price policy.
3) State the difference between rural and urban unemployment.
4) Explain the progress of Public Distribution System.

¥) AEFATd 3ca folgT. (FRIvTAEr aiel)
(2rsG HAET &o 2sq)
?) HRATAIST $ROT §19TdT HThR olgled [T &hRoT forgr.
) F fhAd YROTE afAsed faere &,
3) ATHIOT SHRT 0T AL SPRT ATl Tl .
¥) ATaoiieteh [AaRoT caaed<r werdr favre .

K-1108 2018
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Q.3 Answer in detail. (any one) 20
(word limits 200 per answer)
1) Explain the relationship between agriculture and industry.
2) Explain the role of agriculture in economic development.

AT’ 3caX oIgl. (FIoTder Teh)
(215 FATET w0 20eC)
?) FT T 3T FT WEREHG FISC T,
R) e fashraTclier ey =T ffFeRr FUSE .

K-1108 2018
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SUBJECT CODE NO:- K-1153
FACULTY OF HUMANITIES
B.A. T.Y. (Sem-V) Examination Oct/Nov 2018
Economics - XI
History of Economic Thought
[Max.Marks: 50]

Please check whether you have got the right question paper.

All questions are compulsory.

Use blue or black pen only.

Use pencil for diagrams.

Use of any signs, attracting attentions is prohibited.

Td e WSfAor 3maeTs 3.

had [Hear fhar wedr daarr groR ST,
AT Afegerel araX .

PITAET T&TAUH T FThidh FOT FUAH Tfee 377G,

Q.1 A) Fill in the blanks. (attempt all) 05

1.
2.
3.
4.
5. “Principle of Economic” book was written by ----------- .

The concept of multiplier principle was first time introduced by ------------- .

Thomas Mun was ----------- economist.

David Ricardo has written his book entitled “On the principle of political economy and
taxation” ----------- in the year.

Theory of law market was propounded by ----------- .

37) Reprear SR R (F9 3faar)

w W

% X

K-1153

-------- Irast Torgrel.
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B) Answer in a sentence. (attempt all)

What is meant by the utility value?

What is mean by physiocracy?

What is the natural price?

What is meant by constant expenditure?

Who has stated the “Theory of surplus value?

orwbpPE

) Tl areFdTd 3ca] folgr. (Fa HAfarard)
2. 39T HoT FgUTSl HA?
2. freearg Feuret H?
3. FAHRIS Hed FUlel S?
y. o @d o sa?
s. fARFT g Agid ol Alzer?

Q.2 A) Explain concept/ terms / units / events. (any two)
(Word limitation minimum 60 for each answer)
1. Mercantilisms
2. Division of labour
3. Multiplier principle
4. Quasi Rent

37) HhoUaT /| AT / Tk | AT TASE . (HIUTALT areT)
(F A FLATETS fFATT €0 2Use HATaN)
. SIIUYRdlq
. HATIHATITON
3. dUlhdcd
¥

S

. ATHTEEE

B) Attempt in short. (any two)
(Word limitation minimum 60 for each answer)
1. Evaluation of psysiocracy thought.
2. Critically examine evaluate the circulation of wealth?
3. State the liquidity preference theory of Keynes.
4. Explain the concept of elasticities of demand.

K-1153
4820781D8DBDESEF3FAF5D3B0D55473F
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) ASHATT 3k Telgl. (RIUTAET i)
(TAF ATHIS! [FATT €o 2Tsg AT
¢, HHIAAEr R HeIATdsT .
. HUcdT TdeleT IR feaprcaAs IREToT &+
3. Seddl Uhs Ycd! Tu=g FAGid FIsC &
¥

. AT I AN aafehar & TeheUsdT TASE .

Write answer in detail. (any one)
(Word limitation minimum 200 for each answer)

1. Critically examine the Adam Smith’s theory of value.
2. What is mercantilism? State the causes of its emergence.

AT 3caX [oET.(PIUTAET Th)
(I TLATETET fhATA w00 2Ueg FATET)

?. 3sH Eru=ar Ao Agidr EarcrAs qReor &
. MRAIE FgUTH HRI? AT 3SITAT HIOT Giam.

OR
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Total No. of Printed Pages:3
SUBJECT CODE NO:- K-1153
FACULTY OF HUMANITIES
B.A. T.Y. (Sem-V) Examination Oct/Nov 2018
Economics - XI
Mathematical Economics
[Time: 1:30 Hours] [Max.Marks: 50]

Please check whether you have got the right question paper.
All questions are compulsory.
Use blue or black pen only.
Use pencil for diagrams.
Use of signs, attracting attentions is prohibited.
Use of simple calculator is permitted.

N.B

ou AWk

. 99 9T AIsfaur 3Tads 3.

had [Hedr fhar srear YR araY SHIET.

. IUTCAET S&Tdeish @ Hishdeh GUT UL FfAser e,
JTEAT I0Teh JATAT 9T 9IaretalT 318,

Q1 A) Fill in the blanks. (attempt all) .
1. Marginal revenue = —————————

change in total Revenue

Elasticity of Demand is shown by --------- sign.
The derivative value of constant is equal to ----------- .
Marginal utility approach is developed by ----------- .

OV B oy

37) Reprear Jem o7, (F9 3faar)

:
%
2
4

K-1153 2018
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B) Answer in one sentence each. (attempt all) 05
What is meant by identity matrix?

What is meant by price line?

Write the formula of addition derivatives rule.

What is meant by average cost?

State the definition monopolist market?

orwbpPE

) TN qFATd 3ca] folgl. (@d AHfrar)
?. Ueheh HNUN FgUTS HII?

. fhad YT FgUTS H?

3. Sorear fasesrr g fogr.

Y., T @ FEUTSH HI?

S, HFACRIYFd STSRASHT IEIT .

Q.2 A) Explain concept/ terms / units / events. (any two) 10
1. Perfect competition
2. Partial derivatives
3. Find the distance between two points. Where A(—4, 2) and B(2,7)
4. Provethat: (A1)T = A
-1 -2 4
2 4 0
0 5 3

Where 4 =

37) TheUdT / TAT [ Ueh | T TISE I, (PIUTAET gle)
?. quT ETqel
. 3w faeherst
3. Qe figAter 3aT Atem 9 A(—4,2) 30 B(2,7)
y. g & AT =4

<1 P4 4]

I A= 4 0

0 5 3

B) Attempt in short. (any two) 10
1. State the conditions of profit maximization.
2. Explain the relationship between marginal cost and average cost.
3. The demand and supply function of a commodity are given below:
Dx=11P-11
Sx=9P +7
Then find the equilibrium price (P) and quantity of commodity (X).
4. If MR is Rs. 50 and the price elasticity of demand is 2 find AR.

K-1153 2018
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) AEFATd 3cc Tolgl. (FIUTAEr alel)
¢, P HAEcdHIHIUIRT 31C FE.
. {HAT @ 3o T T 1A FAY TISC T,

3. TRl IEd ARTON 30T QAT Heled el feel 3776
Dx= 11P-11
Sx = 9P +7

Ara®eT HfAd fhaAd (P) 30T Gl AT (X) el
Y. SR @A ured go 3. 3o AR Foad FafRedr * 3 X ERR
grear (AR) e,

Q.3 Answer in detail. (any one) 20
1. Given the utility function U = g, q,, price of commodity q, is Rs.1, price of commodity g, is
Rs.5 and income of the consumers Rs.10. find optimum quantity of commodities of g, and
qz.

2. fy=uv
Where u and v are the function of x, then prove that:
dy dv 3 du
dx ~ “dx T Udx

TfaTaR 3caX fogr. (RIoTagr )
?. U Bl U = q1q,, q, TN AT ¢ T g, a7 AT 9 T 3nfor
3YMFR 3cUeod g0 T, foel 3T g, MO g, TETA e HET e,

RS y=uv
3, IY u IO v & x I B 3TdIid R B =
d_y_ dv du

OR

K-1153 2018
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Total No. of Printed Pages:3

[Time: 1:30 Hours]

N.B

Q.1

K-1153

el N =

X W A

SUBJECT CODE NO:- K-1153
FACULTY OF HUMANITIES
B.A. T.Y. (Sem-V) Examination Oct/Nov 2018
Economics - XI
Labour Economics
[Max.Marks: 50]

Please check whether you have got the right question paper.

All questions are compulsory.

Use blue or black pen only.

Use pencil for diagrams.

Use of any signs, attracting attentions is prohibited.

g e WsfAor 3maeTs .

had [Hear fhar wredr daarr groR ST,
IMhcIHTS Afegerel draX .

HIVTAIET ofaTaersh GuT fohal FEAT oATE Jiaae 31Tg.

A) Fill in the blanks. (attempt all) 05

grwNE

Eleventh five year plan period was --------------
The concept of wage determine was first time hissdiesd o]V — ,
Child labour act was passed in the year ------------ :

“The Theory of wages” book was written by ----------- ,

The head office of central labour education board at ---------- .

37) Reprear S 91T (F9 3faar)

B)

LR - o) | RS O | 1N 2 1 15 o 3 I ) [ P — g1 3TTe.

2. ddex ARTdT TFhedar T 9UH - AT HASell

3. STIHGR FHIICT ----mmmmmmmm ail HsR Srell

Y, ‘AdIr TAGIA’ &7 T ---mommmm AT Torgrelr

s, HieT HAAF RN AT AT FRATAT - JT 3
Answer in one sentence each. (attempt all) 05
1. What is meant by living wage?

2. Which act passed related to industry in India in the year 1947?

3. State the definition of labour.

4. State the current unemployment rate in India.

9. Which year ‘Indian labour education institution’ has been established?

2018
4820781D8DBDESEF3FAF5D3B0D55473F
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&) Tl JFATd 3cak Tolgl. (A9 Afrary)

¢, fAdIg dddT X F{UTSH FHI?

. HRATT 98 ALY SIS HIUTAT HIIST I STAT?

. HAT IEIT e,

2
3

Y. HARAIAS EIMAT ShRar &3 Fiam.
g, HRATT T TATOT TEAT ST ¥ TATTT 0TI 3Tell ?

A) Explain concept/ terms / units / events. (any two)
1. Demand of labour

2. Minimum wages

3. Urban unemployment
4. Unorganized sector

37) ThoeUdT /| TIAT / GCH /| TCAT TISC o, (IOl Gle)

9. HATH AEIOY
R. A dclel
3. & ST

Y. YT &7

B) Attempt in short. (any two)
1. State the causes of unemployment.
2. Write the nature of Indian labour market.
3. State the problems of rural labour.
4. Write the benefits of collective bargaining.

) AsFATd 3cc gl (RO &)
¢, ST SHIOT FIE.

. HRAT HH TR Tawy fogl
3. YTHIOT ASRAT 35Tvly Fim.
Y. GHfgn Hier AFl Brae forg.

Answer in detail. (any one)

1. Write the labour policy during eleventh five year plan.

2. Explain the relationship between employment and development

TfaTR 3caX ToIgr. (PIUTdgr Th)

¢, 3TRISAT YIS ATl HiBdiel AT eoT foIgr.

2. USER M0 Aer@ Irdier a8 TIse .

4820781D8DBDESEF3FAF5D3B0D55473F
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SUBJECT CODE NO:- K-1189
FACULTY OF HUMANITIES
B.A. S.Y. (Sem-I111) Examination Oct/Nov 2018
Economics - V (Compulsory)
(Macro Economics)

[Time: 1:30 Hours]

N.B

Q.1

K-1189

Please check whether you have got the right question paper.
1) All questions are compulsory.
2) Use black or blue pen only.
3) Use pencil for diagrams.
4) Use of any signs, attracting attention is prohibited.

?) @G YT HISfA0r HEaTH IHe.

R) Ward FredT fhar fear YsTard araR ST
3) THcATETS! AfeHerar g IYTETd 37Te.

¥)

A) Fill in the blanks. (attempt all)

1) - has firstly coin the concept of Macro Economics.
2) There are ---------- methods of national income measurement.
3) M=Ky this equation is stated by ----------

4) Psychlogical law of consumption is stated by ------------

5) --momemmeee- has stated the over Investment theory of trade cycle.

31) Reprear SMem o, (F9 3fAar)

P SRy el TIRMMEARN HehoUaT IYAH HSall.

55, S oo et TR ifaRed dauhrar fagid Alse.

B) Answer in one sentence. (attempt all)

PTG S&TALh GUT fohel Feell HUTTE GfAa 38,

K-1189

[Max.Marks: 50]

05

1) In which method of national income measurement, production factor income take into g5

account?
2) State the J.B. Says law of market.
3) What is meant by Consumption Function?
4) State the formula of Average Propensity to consume.
5) Write the Fisher’s equation of exchange.

1

3355F9477271EA480A42450F116632E2
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&) TSI AT 3cak Tolgl. (A9 3ifaar)

?) TSEIT 3cUeol HATIATTAT HIUTCAT TGAIHEY 3cIGe] Uehiedl Aldgedrdar f[aar
hell SATl?

) IS . H AT SeRYSAYIS HAIA Frer.

3) 3YHNT Heldd FgUTA A7

¥) TG 3T Tcclrd I FAM.

g) e fafada aeor forer.

A) Explain concept/terms/units/events (any two) 10
(word limitation minimum 60 for each answer)

1) Aggregate demand

2) Index number

3) Production method of national income measurement
4) Marginal propensity to consume.

31) ThoUall/ HAT / TUCH/ TTAT TASC FL. (PIUTAET  Glel)
(A UATH TR Qe FIATGT &0 ASE)

?) HHIY AN

) A=

3) ISET 3cUed HATIAT 3caTee Igar
¥) FAATT 3T Fgeclt

B) Attempt in short (any two) 10
(word limitation minimum 60 for each answer)

1) Describe the limitations of Macro Economics.

2) Write the importance of national income measurement.
3) Write the monetary measures to control the trade cycle.
4) Explain the Fisher’s Quantitative theory of money.

2018
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d) YUIsFATd 3k folgl. (HIvTdE! aiel)
(IAF U FATA QUeg FATET €o 2Usc)
?) Tl HAAEATAT AAG quTeT ol
) TS 3cTeed ATYTI Hged [olgl.
3) RS Ao #ide 3urr .
¥) Therar Jeaearar Agid TS H.

Answer in detail (any one) 20

(word limitation minimum 200 for each answer)

1) Critically examine the Hawtrey’s Monetary theory of trade cycle.
2) What is meant by Macro Economics? Explain the nature and scope of Macro Economics.

TIAER 3caX foIgl. (PIUTAgT Teh)
?) BICTAT SATIRThIAT Higieh [Agard Eprcas aReTor H,
) TYA HIAET 7gUTS HI? TYAFINEAR TIEY g SITecdl FASE .

2018
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SUBJECT CODE NO:- K-1190
FACULTY OF HUMANITIES
B.A. S.Y. (Sem-I111) Examination Oct/Nov 2018
Economics - VI (Compulsory)
(Economics of Development )
[Time: 1:30 Hours] [Max.Marks: 50]

Please check whether you have got the right question paper.
N.B i.  All questions are compulsory.
ii.  Use black or blue pen only.
iii.  Use pencil for diagrams.
iv.  Use of any signs, affecting attention is prohibited.

¢, A9 U ASfaor 3Maedes 3.
2. Ted FredT fhar [Fedr YA Y .

3. MHcATETS AfeHerar araR .

8. HIUMCAIET elafdereh Gor fohar Feaar Huary yiaaer 3.

Q.1

&

Fill in the blanks.(Attempt all) 05
In the concept of sustainable development implesis has given on present generation with.....
Classical economist has accepted the ....... policy of Government in Economic Activity.

In 1960 W.W.Rostow has written the Book entitled........

Incremental capital output ratio=———--

il

Increse in production’
S, i sector of the economy is known as primary sector.

31) Reprear ST oRT.(Fa 3ifaar)

?) A fAa=ar Tdeuad ada A& ... feraeaR a1 fGar ST,
Q) ToldaTarer RMEAAT 3w &ad TPRAT ... GIRoTaT FahR el
3) fR€o HEY Secl ool ALK Alell ... 8T T TAfger.

¥) T&ATT HIsdel 3cTrcs TATOT=

0 R &7 § Jdcgatad WUfAS &7 U JHsud .

N—r

Answer in a sentence.(Attempt all) 05
Who has written the book ‘Das Capital’.

What is meant by investment criteria?

Who has written the book entitled ‘Business Cycles’.

How many stages are economic growth, According to W.W.Rostow.

Which two economists stated the Theory of optimum population?

R R

K-1190 2018
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UehT TRl 3R Telgr.(da 3ifaar)

. S Sfed g I Holy fafger?
Wﬁwm@rm’?

TIIR I’ & I ol fafgar?

. Bc] Zee] AT ITeAT AHER 3N1Theh gflear fohell 3raer 3mea?
. gded SAhauTAT i HIUTeT el 3l Hsar?

Explain concept/terms/units/events (any two). (Word limitation minimum 60 for each answer) 10
Economic Growth.

Socialism.

Optimum Population.

Vicious circle of poverty.

HeheTedT/HAT/ECH/ECAT TISC L. (HIUTdRl Glel)
(TAF TRATT TFATT 2Tsg HAATET €0 2UsE)

B D EONCTA

HATSCIC;

e SNehEEdT,

cTReT e,

Attempt in short(any two) 10
(Word limitation minimum 60 for each answer)

Explain the merits of capital intensive production technique.

Explain Rosenstein Rodan’s Big Push Theory.

Explain the Role of Nano Technology in Agriculture sector development.

Write the determinants of saving.

ASFATA 3cc) felgl. (IvTdEr &)

HISTATLTST SclesT ard 90T TS .

Aol TAAAT eI AT aTcle ${fHhT TUsC .
gad fAuRa U gcsh fogr

2018
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Q.3 Answer in details(Any One). (Word limitation 200 for each answer)
1. Explain the marxs Theory of Economic Development.

2. Explain the Role of Agriculture sector and Industrial sector in economic development.

TTAER 3caX TIEr. (FIUTAE Tah)
(IAF IRATT fFAT 2leg FATET 00 2T
¢, AFE Irar NS fawrarar Bgia Tase #a.
R. 3 fashrarcher et &7 g e w arr fAST TIse Al

K-1190

3355F9477271EA480A42450F1166294C
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SUBJECT CODE NO:- K-1301
FACULTY OF HUMANITIES
B.A. T.Y. (Sem-VI) Examination Oct/Nov 2018
Economics - X111
Research Methodology

[Time: 1:30 Hours] [Max.Marks: 50]

Please check whether you have got the right question paper.
N.B 1) All questions are compulsory.
2) Use black or blue pen only.
3) Use pencil for diagrams.
4) Use of signs, attracting attentions is prohibited.
?) |G URe HISTAUN 3HTaTS g,

Q) wad Hedr fhdT HTear YeTard g HIET.
3) THcATATS! Aol araX .
¥) FIUTCHET STafdersh Ul § P FoATH Jiaaer 3.

Q.1 A) Fillin the blanks (attempt all) 05
1) Direct observation i$---------=---=---- source of data collection.
2) There are------------- steps in research process.
3) Ininterview minimum ----------- person came together.
4) First of all fisher used ------------- method.
5) In research personal -------------- IS necessary.

31 RepEar Sen T (Fa 3ifaar)
?) 9caaT fAQEIOT § - AT MSBT FIUI AL 3TR.

B) Answer in one sentence (attempt all) 05

1) What is Questionnaire?

2) What is hypothesis?

3) Write the two method of data collection?

4) What do you mean by one dimensional diagram?
5) What is methodology?

K-1301 2018
6006EFO9D60A 33FE57F39CE06120274E0
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§) U aEad 3R forer (@a 3ifaan)

Q.2

K-1301

?) YTl FEUTS 1T ?
) IEdHcT FgUTS F1I?
3) AMRAT HhelITAT Gled Yeyd=h =1d e,

¥) JAAT Ad U IhRIcHAS T FgoTsT HI?
9) HAMUAIGHA FEUTS HII?

A) Explain concepts/terms/units/events(any two)
(word limitation minimum 60 for each answer)
1) Public documents.
2) Concepts
3) Research design
4) Graphs of frequency distribution.

37) HheTAT/EAT/GCH/EaTAT TISET
(IAF 3TN AT Ase FATET €0 3R )
?) HIASITAS oIl
) Thodd
3) LM 3IRIEST
¥) T faRor foig YT s

B) Attempt in short (any two)
(word limitation minimum 60 for each answer )
1) State the types of schedule.

2) Explain the meaning of Diagnostic research design.

3) Write on interview.
4) Write the motivating factors of social research.

§) AsFd 3W R (P gie)
(AP 3T [FATT qsg FATET €o e )
?) 3TTEE Wb Hia.

) eEcHA® Tt IRTEsIrar 7 TS .

3) HAGAEY fogr.
¥) FTHATSI GMUATT Wb T [orgT.

6006EFO9D60A 33FE57F39CE06120274E0
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Answer in detail (any one)
(word limitation minimum 200 words )
1) Explain the research process.
2) State the types of primary data collection.

HIdER 3t ToIgT (IUTdET Teh)
(FAF Y AsG HATGT Q00 AsG )
?) TRMET YTshdT TISC .
) MUAF AR TholelTd YhX HIIT.

OR

6006EFO9D60A 33FE57F39CE06120274E0
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Total No. of Printed Pages:3

SUBJECT CODE NO:- K-1301
FACULTY OF HUMANITIES
B.A. T.Y. (Sem-VI) Examination Oct/Nov 2018
Economics - X111
Regional Economics

[Time: 1:30 Hours] [Max.Marks: 50]

N.B

Please check whether you have got the right question paper.
i) All questions are compulsory.
i1) Use black or blue pen only.
iii) Use pencil for diagrams.
Iv) Use of any signs, attracting attentions is prohibited.
?) I 9T WY aeTes 37Me.
Q) Wad FledT fhar Hear daara aTR .
3) MHcITETS Ufedorel JTI HIa.
¥) VTGl T&fatreh YUl d el HFUATH Flaaer 37T,

Q.1 A) Fillin the blanks. (attempt all) 05

1) Balance regional development was objective of ----------- industrial policy.

2) ---mmmeeee- is economic capital of India.

3) In backward region given the preference for start the industry from------------- year.
4) Area development programme accepted in-------------- five year plan.

5) Area approach system was accepted in ------------ five year plan.

37) ReEar Sen T (F9 3fAar)

B) Answer in a sentence (attempt all) 05

K-1301

1) What is the globalization?

2) State the period of Tenth five year plan.

3) Which five year plan was related to agriculture?

4) When was established ‘National committee for the development of backward area’?
5) Give the formula of per —capita income.

2018
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K-1301
) TehT areaTd 3 Tergn(@a 3ifaany)
?) SRTfhIA]UT FUTST 1T ?
Q) SBTT YTdINe Alelordrl HIcaddl FIam.
3) VT TeaTSeh Arotelr HWRN Faferd gidr?
¥) FAE HAETAT [aahrd aXUIrATS! TSET FiAAT * FHll TAT9eT 0T 3Tl ?
3) EIBg ScelTd §F &
Q.2 A) Explain concepts/terms/units/events (any two) 10
(word limitation minimum 60 for each answer )
1) Regional policy
2) Social sector
3) Historical evidence
4) Regional income.
37) TheUAT/TA/ach/aeal TISC T, (RIVTEr &)
(I 3T [FATA €o Usg HITEN)
?) U GRoT
) FATGS &7
3) UfcgTiae aredsgAr
¥) UGfId 3o, 10
B) Attempt in short (any two)
(word limitation minimum 60 for each answer )
1) Explain the relation between liberalization and rigional policy.
2) Explain the role of agro-based industry in economic development.
3) State the need of regional economics.
4)  Explain the alternate regional policy
) AFAT 3AY Telgl (SRIUTART Elet)
(I A® 3T FATA €0 Usg FHITE)
?) 3GRIAIUT 0T YRk YRUT ITdlel AT TASC H.
R) 3 TashraTciel e TR ST iR TS .
3) Ui 3rARMEART IR |9,
¥) JATT Ui YROT TASE .
5
K-1301 2018
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Q.3 Answer in detail (any one)
(word limitation minimum 200 for each answer )
1) Describe the effect of liberalization on regional development.
2) Explain the role of agriculture and industry in development of India.

FiaeaR 3@ forgT (FIUTEr Th)
(T 3T AT w0 Ase AT
?) IERIEUT Uefie fasmaradier aRume Tase .

) HRATeAT 3NTheh [Aehrarcer 1 g eI fAHT TISC .

K-1301
6006EFO9D60A 33FE57F39CE06120274E0
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Total No. of Printed Pages:3

SUBJECT CODE NO:- K-1374
FACULTY OF HUMANITIES
B.A. F.Y. (Sem-I1) Examination Oct/Nov 2018
Economics - 111 (Compulsory)
(Price Theory)

[Time: 1:30 Hours]

N.B

Please check whether you have got the right question paper.
. All question are compulsory.
. Use black or blue pen only.
. Use pencil for diagrams.
. Use of any signs, attracting attentions is prohibited.

. |9 9T AEfaor 3maeds 3.
. ®ard fAear fhar wredr YT araY .
. IUTCAET eTdereh GoT d FIeAl L0 Ffcaes

A W N = DWOWN R

Q.1A) Fillin the blanks (attempt all)

1)
2)
3)
4)
5)

The number of Main Production factors is .

According to Dr. Marshal, “Fixed Cost” means cost.

Risk Theory of Profit stated by .

In the Market Producer or Seller is Price Maker or determiner
“Limit Pricing Model” is stated by

Reprear S or. (@a 3ifAanry)

1
2)
3)
4)
5)

3cUleATedT YHW Heh TEAT _ 3Te.
1. AT AT A, ‘TR @O Fgulsl _ @J g,

B) Answer in a sentence (attempt all)

K-1374

1)
2)
3)
4)
5)

In which book Ricardo stated ‘Rent theory’?
What is meant by ‘Market’?

Who stated the ‘Liquidity Preference Theory’?
What is mean by Production Function?

What is mean by Monopoly?

88FBOOFCBF7B2159C737D81D9FBC5DCE

K-1374

[Max.Marks:50]
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UehT aTRATd 3cck TolgT (T 3faanr)

1) Reprsf Il ‘@3 fAgia’ SHorear Jura Aiger ?
2) SO FEUTSA HrI?

3) ‘ST JAWAT 9T RAgid ol Ager ?

4) 3c9TGel el FgUTSl hIA?

5) HFAGRT FguTal FHI?

Q.2A) Explain Concepts / terms / Units / events (any two):

(Word limitation minimum 60 for each answer)

Perfect Competition
Advertisement
Average Fixed Cost
Limit Pricing

el A

Hehedell /| TaT / O¢h | Tl TAST T (RI0TEl aled)
(T AT fohATeT Qeg AGTET 60 2AT)

1) quT E9el

2) SERTA sTait
3) EEsT R &g
4y Oy fhaa

B) Attempt in short (any two)

K-1374

(Word limitation minimum 60 for each answer)

1) Explain the Internal Economies of firm.

2) Explain in short Loanable Fund theory of interest.
3) State the importance of Market Equilibrium

4) Write the features of Oligopoly.

MsFATT 3cak gt (FIUTAET &)
(TS T [FATT U FIATET 60 2Usc)

1) 3G TEATAT AT T TIST .
2) ST ®alld et fBgiad Aseard Tase .
3) SIS WIS Hgcd AT

4) FeufeRdr aftrsed fogT.

88FBOOFCBF7B2159C737D81D9FBC5DCE

K-1374
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K-1374

Q.3 Answer in detail (any one) 20
(Word limitation minimum 200 for each answer)

1) What is “Rent”? Explain the Recardian theory of Rent.
2) What is Long run Cost? Explain the causes of ‘U’ shape of LAC curve.

AT’ 3caX o8l (FIoTder )
(IAF TRATH [HATT eg FATET 200 2Asc)

1) T3 Fgursl ra? Rashkr s Rga Tase .
2) Srdeplelld TIE @Y 7T Hrg? LAC arshredr ‘U’ 3Rl HROT TS &,

K-1374 2018
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Total No. of Printed Pages:3

SUBJECT CODE NO:- K-1375
FACULTY OF HUMANITIES
B.A. F.Y. (Sem-I1) Examination Oct/Nov 2018
Economics - 1V (Compulsory)
(Money Banking &Finance)

[Time: 1:30 Hours] [Max.Marks:50]

N.B

Q.1A)

B)

K-1375

Please check whether you have got the right question paper.
1) All questions are compulsory.
2) Use black or blue pen only.
3) Use pencil for diagrams.
4) Use of any signs, attracting attention is prohibited.

1) €9 92T A0 3MaTH 3Te.
2) wad fear fhar wedr YA arar T,
) THCATATST el I HITaT.

) HIUTAIET elafdtish Qo fohar FeaaT oA Ficae,

wW

4

Fill in the blanks (attempt all) 05

Life Insurance business was nationalized in the year

In the financial structure works as apex institution.

The banking regulation act was passed in the year

On the purchasing of shares, shareholder gets .

According to Grasham’s law drives good money out of circulation.

agrONE

Revrear Snem a1 (F9 3ifaar):

1) Sfrad faAT SgaaErE ASCIATHIOT Tl STel.

2) HRATS e Tad ey |E AT FgURT w1 .

3) ¥ @THA FIET &7 HTell 91 ST,

4) VY FIETRIE VY TG HIOMITAT T

5)  IAFAT [GRLIGHIRS AT TAATH STAGRICe leholel olTac.

Answer in a sentence (attempt all): 05

1) Which is the apex bank of co-operative banks?

2) State the name of India’s Central bank.

3) Which transactions are completed by ‘E-banking’?
4) When was started regional rural banks in India?

5) Which metals are used in bimetallism?

2018
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Q.2A)

B)

K-1375

OCT NOV 2018

Ul AT 3cd] Tl (Fa 3ifaanrd):
1) HEHRT SRl AW §F Ao 3?2
2) WRATAT ALIGAT sehd HTd HI4.
3) ‘F-dehlI’ EER HIVI gR IOT shel SATclel.
4) HRATT e ATHAOT Sehreil Foard chegl FTell

5) GIAETeh Tolel TEHHEY HIUTCAT LTl 3TTNaT Bl

Explain concepts / terms / units / events (any two):
(Word limitation minimum 60 for each answer)

1) Paper money

2) Bank

3) Lead bank

4) Credit Control.

37) ThoUsTT / HAT / TTHh |/ UCAT TISC FT (PIUTART &led);
(TAF IRATT fFATT 2leg FATET 60 2Usc)
1) rardr dar
2) APy
3) 3Ol g
4) 9q fEgFor

Attempt in short (any two):
(Word limitation minimum 60 for each answer)

1) Write the main principles of creation of paper currency.
2) State the functions of NABARD.

3) Write the main functions of Reserve Bank of India.

4) State the Indian banking structure.

) MsFATT ek To8T (F0AET al):
(IcAF IRATT fFATT 2reg HATET 60 2Usc)

1) ETEr ol fAATUT SHIuAreh wHw ded foisT.
2) SErsdr S giem

3) AR Rzrd dehdr yoa@ Hdf forr.

4) 9RAT dh TIGAT Hi.

88FBOOFCBF7B2159C737D81D9FBC25B3

K-1375
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K-1375

Answer in detail (any one): 20
(Word limitation minimum 200 for each answer)

1) What is money market? Explain the role of money market in Indian economy.
2) State the definition of money. And explain the functions of money.

FAER 3cd] TolgT (FIUTagr Tah):
(ThAT eTeg ATEL. Ul 3cckid 200 2TsG)

1) STOT S6IR GO H1g? ARAY HIcTaedciiel A0 STSIRTHT $fHbT FISC .
2) Yy carear I 3or derer e Tase @

2018
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K-1383

Total No. of Printed Pages:3

[Time: 1:30 Hours]

N.B

Q.1A)

3)

K-1383

SUBJECT CODE NO:- K-1383
FACULTY OF HUMANITIES
B.A.S.Y. (Sem-1V) Examination Oct/Nov 2018
Economics - VIII (Compulsory)

(Statistical Methods)
[Max.Marks:50]

Please check whether you have got the right question paper.
1) All questions are compulsory.
ii) Use black or blue pen only.
iii) Use of simple calculator is permitted.
iv) Use pencil of diagrams.
V) Use of any signs, attracting attentions is prohibited.

i) 9 g WA 3T9TH 3.

i) ward Awar fohar Srear YT aroR ST

iii) FTEAT IOTRIATIT TR G 3Tg.

iv) 3MehcATATSl AfHerdr aTaR .

V) PTG ceTatieh Ul & el HI0ArH Fideer 3g.

Fill in the blanks (attempt all): 05

i)
i)
iii)
iv)
v)

If X:-17,19,13, ** 15. It’s mean is ‘15’ then the value of ‘**’ =
The value of co-efficient of correlation is always lies between
Xf=

_ " ZP1qo
P01 o

- % 100, this formula of index number is given by
040
The sum of the deviation from means is

Reprear ST 817 (F9 31far)

i)

0y
X:-17,19, 13, **, 15 IT &I ATET (mean) 15 378, dX *+ T

frea=

GESY AU Heg gl TIT eI 379,

2FIN Y OO AT

P01=%x100,%ﬁé%mﬁ§3r Tqi=T el 31Te.

ALY UceledT Ug Hedredl fa<elarar aitsr 374,

2018
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)

Q.2A)

3)

K-1383
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Answer in a sentence (attempt all)

i)
i)
iii)
iv)
V)

If X:7,7,7,7,7 then derive the coefficient of variation.
If ¥x = 150, and N=50, Derive the mean.

Write down the formula of Fisher’s index number.
What is meant by correlation?

What do you understand by tabulation?

Ul EFATd 3ca} Tolgl. (@d Afaar)

i)

R
X:7,7,7,7,7 38 R faaelaTd g FlaT.
SR Zx = 150, 30T N=50 dX #ATET Flal.
ftrercar e wevard g4 fogr.

Y FgUTS I ?

RO IO ITIUTH HT FHAT ?

Explain concept / terms / units / event (any two)

i)
i)
i)

Secondary data
Questionnaires
Calculate the median from the following data.
marks: |5 |7 |2 [13 [19]|4 |25
f: 2 |3 |5 |1 |2 |5 |2

Derive the fisher’s index number from the following values:

YPyq, = 3868, IP,q, = 2804
YPyq, = 3383, XIP,q; = 2665

Hhodall /| AT | Teh | GeaAT TISC I (HIUTRT gred)

)

ACGIR AR IED]

gRATIT

Glellel ATfgdla®ed HEIAN el
aror - |5 |7 |2 |13 |19 [4 [25

o)

f: 2 |3 5 1 2 5 |2

Freltel feledT Hedi=ar 3muR herer Adens el

YPyqo = 3868, IP,q, = 2804
YPyq; = 3383, XP,q, = 2665

E3801567C8FF62CA31AC07A31711D5F4
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(B) Attempt in short (any two) 10
1) What are the uses of dispersion?
i) Explain the merits of range.
iii) Calculate mean deviation from median from the following data
Marks :- 40, 50, 30, 10, 20.
iv) What does correlation co-efficient measure?
d) UEHIT 3cak ToIgT (HIoragr gi)
i) T 39T ST 3Red ?
i)  faEaRT IO TS A
iii)  @reler ARG HAEZaN argA HEF faTelel FlaT.
aoT - 40, 50, 30, 10, 20.
iv)  HEHSY HEIUTh HATT AT FAl ?
Q.3 Answer in detail (any one) 20
(Word limitation minimum 200 for each answer)
i) What is an index number?
Explain its uses and limitations.
i) The scores of two batsmen ‘A’ and ‘B’ in ten one day matches are given below:
A: 3228|4763 [71|39|10|60|96 |14
B: |19|31|48 |53 |67 |90 |10 |62 |40 |80
Find out who is more consistent?
TR 3ccR ToIer (PIuTagr Th)
(I 3caig fhaATT s FITET 200 2AsE)
i) &L Fguret FR? AR 3TAT 0T FAATET TISE T,
i) A’ 37701 ‘B’ &7 Gl Hholgolid Gl Uahicaila Taefdier emaaear dleild
YHTOr feelell 318,
A:| 32|28 |47 |63 |71|39|10|60 |96 |14
B:119|31|48|53|67|90|10|62|40]|80
HIUT SIEd AIACAYUT 3TR? o o,
3
K-1383 2018
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K-1182

Total No. of Printed Pages:03

SUBJECT CODE NO:- K-1182
FACULTY OF HUMANITIES
B.A. F.Y. (Sem-1) Examination Oct/Nov 2018
Economics - 11 (Compulsory)
(Indian Economy)

[Time: 1:30 Hours] [Max.Marks: 50]

N.B

Q.1

K-1182

Please check whether you have got the right question paper.
1) All questions are compulsory.
2) Use black or blue pen only.
3) Use pencil for diagrams.
4) Use of any signs, attracting attentions is prohibited.

?) TG 9T TISfAUr 3EeTH M.
Q) Wad fAear fhar wredr YA aruX ST,

3) JThcITHTS Ufeerar ara .

¥) HIUTAET elafdereh Gor fohal Faar H0AE Ticar,

A) Fill in the blanks (attempt all) 05

1) India’s fifth five year plan was ....................

2) The Book “Poverty in India” is written by .............c..ue.

3) According to 2011 Census Report the death rate of Maharashtra is .............
4) In the year ---------- the India’s New Economic Policy was announced.

) sector Disguised unemployment is found.

37) Repregr Jrem o1, (F9 3ifaary)

B) Answer in sentence (attempt all): 05

1) In which year “Swarna Jayanti Shahari Rozgar Yojna” was announced?
2) What is meant by poverty?

3) Write the meaning of Death Rate.

4) Write the meaning of population Density.

5) Who is the Ex-office Chairman of India’s Planning Commission.

1
2018
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K-1182

&) TSI arFATd 3cak Tolgl. (A9 3ifaan)

?) “GaoT STl A USHIR FNofeAl” HIoTedT a¥i eIl hoATe 3Tl
) aIReT  FgUTSl & ?

3) FHcgeran 3y foer.

Y) SRIEITIT gaiaar 3 forgr.

9) HRAT AT FAsard Ygfig HEI&T HIT AT,

A) Explain concepts/terms/units/events (any two) 10
(word limitation minimum 60 for each answer)

1) Planning
2) Life Expectancy
3) Poverty
4) Literacy

31) HhoUslT / TAI/ HcH/ AT TASE FT. (PI0TALT arel)
(JcAeh F=ATH 2UeG HAGT &o 2Ieg)
?) faarster
Q) AT
3) aed

~

¥) TTERAT

B) Attempt in short (any two) 10
(word limitation minimum 60 for each answer)

1) Explain the Gandhian Plan.

2) Explain the characteristics of Nartural Resources.
3) Write the causes of Unemployment.

4) Write the objectives of 12" five year plan.

) MSFATT 3ccR T, (FOTAEY &t )
(TP IRATH fHHATT 2Usg AATET &0 2UsE)

2) IMENGTET JISTAT TISC .
Q) Aqafich oA dfersey TaST .

2018
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3) SHRET HROT g,
¥) SRS Yoaii¥e el 3fRsed fogr.
Q.3 Answer in detail (any one) 20

(word limitation minimum 200 for each answer)

1) Explain in detail the characteristics of Indian Economy.
2) What is meant by Unemployment? Explain the causes of unemployment and suggest the
remedies.

TIAER 3caX oIl (PIUTAET Teh)
(TAF IRATT fFATT 2leg HATET 00 Qec)

?) HRAT 3rYcgard=y 3fAsey FfATAR TIST F.
R) JhRT FEUTST HA? SR HROT FISC T 3MOT TG 3T FaT.

K-1182 2018
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